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B.E./B.Tech. DEGREE EXAMINATIONS, JANUARY 2010.
’FIRST SEMESTER
- ME15 — ENGINEERING GRAPHICS
(Common to all B.E./B.Tech.)

(REGULATIONS 2008)

Time : Three hours % Maximum : 100 marks
Answer ALL Questions

(5% 20 =100)

1. (a) An inelastic string of 150 mm length has one of its end attached to the
circumference of a circular disc of 40 mm diameter. Draw the curve
traced by other end of the string when it is completely unwound around
the disc keeping the string always tight. Also draw the tangent and
normal to the obtained curve at a point 100 mm away from the center of
the disc. '

Or
(b) Draw thé front, top and side view of the following part.
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The end P of a line is in the HP and 40 mm in front of VP. The end Q is in
VP. The front view of the line makes an angle of 40° with the horizontal
and has a length of 85 mm. Draw the projection and find its true

inclination with HP and VP using Trapezoidal method. :

Or

(i) Draw the projection of the following points on a common reference
line. :

A, on HP and 35 mm behind VP
B, 5 mm below HP and 40 mm in front of VP
C, 25 mm above HP and on VP. | (3x2=6)

(ii) A regular pentagonal lamina of 40 mm side has one side in VP and

the plane is inclined at 30° to VP. Draw the projections of the
plane. (14)

A hexagonal pyramid of base side 30 mm and axis length 60 mm is
resting on HP on one of its base corners with the base sides containing
the corner equally inclined to HP and its axis is parallel to both HP and
VP. Draw its projections. : :

Or

Draw the projections of a cylinder of diameter 30 mm and axis 50 mm
long lies on HP on one of its generators and the base is perpendicular to
HP and inclined at 60° to VP. :

A cone of base diameter 50 mm and axis length 60 mm is resting on HP
on its base. It is cut by a plane perpendicular to VP and inclined at 75° to
HP and passing through 20 mm below the apex of the cone. Draw its
front view, sectional top view and true shape of the section.

Or

A hexagonal prism of base side 30 mm and height 60 mm rests vertically
on the HP with a side of base parallel to VP. A string is wound round the
surface of the prism starting from extreme point on the base to the
diametrically opposite corner on the top land and ending at the same
point. Find -graphically the shortest length of the string required. Also
sketch it in the front view.
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(b)

A hemisphere of 90 mm in diameter is céntrally joined to the end of a
cylinder of 60 mm in diameter. The height of the cylinder is 90 mm. Draw
the isometric projection of this combination when the hemisphere is on
the top.

Or

A hexagonal prism side of base 25 mm and height 50 mm has one of its
rectangular faces inclined at 30° to picture plane and the vertical edge
nearer to PP is 15 mm behind it. The station point is 45 mm in front of
picture plane, 70 mm above the ground plane and lies in a central plane
which is 15 mm to the left of the vertical edge nearer to the picture plane.
Draw the perspective projection of the prism.

2 , E 216 (FN)




